



We have prepared a contract for you

**HPE Server**

Contract # 004801  
Version 1

Prepared for:

**Labor Law Poster Service**

Michael Bishop  
[michaelb@llpsinc.com](mailto:michaelb@llpsinc.com)



# SENTINEL®

## Appendix A

The Agreement referenced below by and between Sentinel Technologies, Inc., (Contractor) with principal offices at 2550 Warrenville Road, Downers Grove, Illinois 60515, and Labor Laws Poster Service (Customer) with principal offices at 6323 W. Saginaw Hwy, Lansing, MI 48917 is hereby appended to include the following:

Commencement Date

Agreement No. 001

---

## Hardware/Software Only

Hardware/Software only purchase of items listed in the Pricing Summary. No installation or professional services provided.

### Bill of Materials

Product Description	Qty	Price	Ext. Price
HPE DL380 Gen11 8LFF NC CTO Svr	1	\$1,882.48	\$1,882.48
HPE DL380 Gen11 8LFF NC CTO Svr	1	\$0.00	\$0.00
INT Xeon-G 6444Y CPU for HPE	2	\$4,498.60	\$8,997.20
Factory Integrated	2	\$0.00	\$0.00
HPE 32GB 2Rx8 PC5-4800B-R Smart Kit	8	\$544.02	\$4,352.16
Factory Integrated	8	\$0.00	\$0.00
HPE 10TB SAS 7.2K LFF LP ISE MV HDD	8	\$557.48	\$4,459.84
Factory Integrated	8	\$0.00	\$0.00
HPE MR416i-p Gen11 SPDM Storage Cntlr	1	\$1,206.96	\$1,206.96
Factory Integrated	1	\$0.00	\$0.00
HPE 96W Smart Stg Li-ion Batt 145mm Kit	1	\$43.02	\$43.02
Factory Integrated	1	\$0.00	\$0.00
HPE DL360 Gen11 Stg Cntrl Enable Cbl Kit	1	\$18.66	\$18.66
Factory integrated	1	\$0.00	\$0.00
HPE MR408i-o Gen11 SPDM Storage Cntlr	1	\$752.52	\$752.52
Factory Integrated	1	\$0.00	\$0.00



## Bill of Materials

Product Description	Qty	Price	Ext. Price
BCM 5719 1Gb 4p BASE-T OCP Adptr	1	\$135.72	\$135.72
Factory Integrated	1	\$0.00	\$0.00
HPE Raid 5 Drive 1 FIO Setting	1	\$0.54	\$0.54
HPE 800W FS Plat Ht Plg LH Pwr Sply Kit	2	\$143.90	\$287.80
Factory Integrated	2	\$0.00	\$0.00
MS WS22 16C Std FIO UEFI WW SW	1	\$1,090.22	\$1,090.22
HPE DL3XX Gen11 CPU2/OCP2 x8 Enable Kit	1	\$56.94	\$56.94
Factory integrated	1	\$0.00	\$0.00
HPE DL380 Gen11 LFF Front TM Cbl Kit	1	\$154.85	\$154.85
Factory integrated	1	\$0.00	\$0.00
HPE DL380/DL560 G11 2U High Perf Fan Kit	1	\$372.16	\$372.16
Factory integrated	1	\$0.00	\$0.00
HPE NS204i-u Gen11 Ht Plg Boot Opt Dev	1	\$547.59	\$547.59
Factory integrated	1	\$0.00	\$0.00
HPE DL380/DL560 G11 High Perf 2U HS Kit	2	\$95.02	\$190.04
Factory integrated	2	\$0.00	\$0.00
HPE DL380 G11 NS204i-u Internal Cbl Kit	1	\$77.41	\$77.41
Factory integrated	1	\$0.00	\$0.00
HPE DL3XX Gen11 Easy Install Rail 3 Kit	1	\$77.49	\$77.49
Factory integrated	1	\$0.00	\$0.00
HPE iLO Adv Elec Lic 3yr Support	1	\$233.35	\$233.35
MS WS22 5Usr CAL WW LTU	1	\$261.35	\$261.35
MS WS22 10Usr CAL WW LTU	2	\$601.15	\$1,202.30
HPE GreenLake COM En 3y Up ProLiant aaS	1	\$531.77	\$531.77
HPE 3Y Tech Care Basic SVC	1	\$0.00	\$0.00
HPE DL380 Gen11 Support	1	\$1,737.49	\$1,737.49
Shipping	1	\$178.66	\$178.66

Subtotal: **\$28,848.52**



## General Terms and Assumptions

### Terms & Assumptions

By issuing a purchase order in response to this quote or contract, Customer hereby agrees to be bound by the below terms and conditions, which shall prevail in the event of a conflict with any terms and conditions included within Customer's purchase order.

- The manufacturer/support provider has the right to inspect any products that have either never had support coverage or have not had support coverage for an extended period to determine their eligibility for maintenance/support. Devices subject to inspection will be flagged as such and are subject to a non-refundable inspection fee, which shall be the responsibility of Customer. Sentinel will work with the manufacturer/support provider on Customer's behalf until device eligibility is determined. Devices that do not pass the inspection will be ineligible for support.
- For products purchased pursuant to this agreement, Contractor agrees to provide storage at no additional charge for up to 90 days. If the storage period exceeds 90 days, Customer agrees to the following: a.) Customer will be responsible to pay a fee of 2% per month for storage of purchased products from that point forward, b.) Customer will be invoiced and will be responsible to pay the unpaid balance for any products purchased from Contractor that have not been paid in full and, c.) Ownership will transfer from Contractor to Customer.
- For all products purchased, it is assumed that prior to order execution with Contractor, Customer has reviewed, understood, and agreed to each manufacturer's respective terms and conditions governing the purchase of products, including, but not limited to, applicable warranties, order cancellation, and return policies. In the event of a return request, Sentinel may assist Customer by facilitating the request between Customer and the manufacturer. In addition, product return requests will be subject to Sentinel's own return policies, which may include restocking fees and/or shipping and handling costs.
- Under no circumstances will Customer have the right to withhold payment to Sentinel due to an alleged breach of any express or implied warranties with regard to the products purchased herein. Any such claim shall be handled directly between the manufacturer and Customer. If Contractor receives any financial relief or incentives intended for Customer as a result of a settlement between Customer and the manufacturer, Contractor agrees to pass through the incentives or financial relief to Customer.

## Payment Terms - Hardware

**Hardware/Software:** For orders over \$100K, 50% at contract execution, balance upon shipment from manufacturer

**All Invoices:** Net 30



# SENTINEL®

## HPE Server

Prepared by:

**Sentinel Technologies, Inc**

Dani Griswold

dgriswold@sentinel.com

Prepared for:

**Labor Law Poster Service**

6323 W Saginaw Hwy

Lansing, MI 48917-2492

Michael Bishop

michaelb@llpsinc.com

Contract Information:

**Contract #: 004801**

Version: 1

Delivery Date: 10/23/2023

Expiration Date: 01/03/2024

## Quote Summary

Description	Amount
Bill of Materials	\$28,848.52
<b>Total:</b>	<b>\$28,848.52</b>

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

Regarding the resale of any products, pricing may be subject to a manufacturer price increase before the expiration date of the quote.

Total Project - Project Total Cost is based on the combined purchase of all Hardware/Software, Professional Services and Solution Maintenance from Sentinel as detailed in the attached Bill of Materials. Unbundling or materially reducing any of these essential elements of the solution may result in modifications to the cost of the remaining elements.

Sentinel Technologies, Inc

Labor Law Poster Service

Signature:

Signature:

Name:

Robert Lenartowicz

Name:

Title:

Chief Operating Officer

Title:

Date:

10/23/2023

Date: